-3<x<3¥m 2,/(x-3)2- /4(x +3)2 & ItFs| oFH?

@—4x @ -2x-6 @0
@ 6x ® 6x+6

~&B

—6<x-3<0,0<x+3<60]22
(FolH A) = —2(x—3) - 2(x + 3)
=-2x+6-2x-6
= —4x




2. 0<a<59, Va?+5—al—- /(a—6) < 7FHs] st v =
x 9] AYighS vepdint)

(@)a—l @ a+1 ® 3
@ 2a-3 ® 2a-1

B ~
0<a<5°9N4a>0,5-a>0,a-6<0
Va2 + 15 —al — /(a—6)2
=lal+|5—al —|a - 6]
=a+b5-a+a-6
=a-1




A= a, b ol U5t a <00<b<10q V(=2a)2 - /(

(-7 & 093] 5192w a, b 9 A%

o

S

a<0,0<b<10]B2
a-b<0,1-b>0

2 /(=2a)?2 = \/(a-b)?+ /(1 -b)?
=|—2a|—|a—b|+ |1 -b|
=-2a+a-b+1-b

=-a-2b+1

TEhA ks g2 -1-2+ 1= -2°|th




@ -4a+2b

@—Qa ® 4da-2b

® -2a+2b

B

=|2a-b|+|al-|b-al
=-2a+b-a-b+a=-2a

a<0, b>0°222a-b<0, b—a>0




5. b<0<a<249 W 023 22527

© (@-2°=a-2
@ V@2-a’=a-2
® a-b?+\/(b-a)® =0
@) V5 + b1 = 2
® J(b-2°=b-2

(b-2>%=—-(b-2)=—-b+2




6.

2<x<09 W, /x+2)2+ VaZ+
=
| —

>
> ®He. —x+5

B-x2e0d

x+2>0 x<0, 3—x>00]2=2
(E)=x+2-x+3-x=-x+5
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